Name:

1.

Unit 6 Review Problems

KEY

Points A, B, and C lie on circle M, as shown
below,

What is the measure of ZBMC if the measurc of

arc BAC is 3007
360
— 300

%

Chords RQ and SU intersect at point T in
circle M.

If RT=5: Q0 =‘f. and UT='9 what is the length
of ST?

joX= 48

JoX = 20
X=
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Date:

In the circle below, AB and CD are chords
intersecting at E.

A C

D

B

If AE=3, BE= &, and CE =Y, what is the
length of DE?

g(3)= X(4)
Yy =4X

X=6

Points @, R, and § lie on circle P, and line SO is
a diameter of circle P, as shown below.

0 600 .x"
|%0 -60 = IR0
Py
R

The measure of OR is (. What is the value of

x?
(3(= I20° ]



5 T.he diagram below shows points P, Q, and R on 7. What is the arca of the shaded sector?
circle S. The measure of ZQSR is | aX.

Q
R
P
What is the measurc of ZQPR? A 2 "'Q 4 Tffl
360
12 ol
_— = _ |20 2
= A= %"’D « (6)

m< @fR=[o1’] A= zav’:

6. RBis tangent to a circle, whose center is A, at g
point B. BD is a diamcter. :

A sector of a circle is shown.

(%

5¢cm

D 6.28 cm

What is the area of the sector? (Use 3.14 for x.)

= €. - |
What is mZ CBR? c 360 aﬁ\r‘ A,__ n\r |
) "'af < 7196 3

LDBR 'S f‘vu‘ le (.28 = _?:% . RI(S) A S0 6

°
becwwse o 1’“&“; - G-*% ~° 0.6¥73 86 AalSF‘IS.ﬁm"'

Padivs it fersect ot
lﬂﬁ"f’ of fangeucy- o= 71.‘1635"

qg,go =60
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In the circle shown below, the measure of

9. The cirele shown below has chords XV, X7, and 11,
N =|‘0" and the measurements of ZRPQ =90,

YZ, with XY 2 X7, “The measure of 7 is 140°,
ay shown,

N
0
: 180
| g0
360
-160
—-1p0
’ - ——
} Z Yo
. 40° o
What is the measure of £ YXZ?
0 —
-‘i"‘:- 20 What is the measure of PQ?

o~
m Y,X"f;@ ¥0:2=80 R Q= 30
s6o-150-10- 150, m FRZE2"]

10. Quadrilateral ABCD is inscribed in a circle as

shown in the diagram below., 12, Points N, P, R, and Q lie on circle O.

0°
P
A ‘!O°
N
70
If mLA = 85° and mZD = 80°, what is m£BY R 4o’

In circle O, what is the mZ PMN?

OPPOS:P- G.Uk,s of a
quedrileterd wscrbed 70+ 40 _ 10 [
noa gigle sre 2. 2

Svrplcmﬁﬁy.

|80~ €0 = [0v
|$0- %52 95
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13, Q8 is a diameter of the circle below, and 0S LPR

Q

S

If mP’EI‘( = ‘Od. what is mP3?
”
m P =f50”

14. In the circle shown below, AD, BE, and CF arc

diameters.
B
A
(o
F &
D
E
What is the value, in degrees, of x?
l,-9+ M m < MD < 300 ~
e W smet & AMBZ <gMP
o o by yertteel “”b Jheasom-
\w’aro“" y
_39-70 >80
(go- 39 0
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I5. In circle O shown below, RS & ST

R

What kind of triangle is ARST?

right B. acute

C. obtuse D. scalene

16. In the figure below, AB is tangent to circle O at
point A, secant BD intersects circle O at points C

and D, mAC = Y4¢° and mCD = 90°,

A 3/)_

<

What is m£ZABC?
360- 90-40= 230

m Ap = 230°

A30-99_ 79
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17 Find the unknown length in the picture below,

£ N

15

2%

25 ( 1s+25)= X(X)

[000 = x*

X = Jiewe =[31.63]
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18. Linc scgments AB and CB intersect outside of
circle P as shown below.

What is the value of x?
q(7t4) =2 (2+X)

77 = U4 X

73=2X

—
—
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